LOSUNG zu bsp-7542-3/ELMB

Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 7542
Aufgabe 1

Ergénze wie im Beispiel a).

a) 5,7 dm =5 dm 7 cm = 57 cm
)89 dm =8 dm 9 cm = 89 cm
e) ,bem =1 cm 5 mm = 15 mm
g)2,1ldm =2dm1cm =21 cm

i) 7,8 dm = 7 dm 8 cm = 78 cm j

C

Aufgabe 2
Ergénze wie im Beispiel a).

a) 53,13 t = 53 t 130 kg = 53130 kg
¢) 32,99 t — 32 t 990 kg — 32990 kg
e) 219,18 kg — 219 kg 180 g — 219180 g
f) 303,25 kg = 303 kg 250 g = 303250 g
h) 882,3 kg = 882 kg 300 g — 882300 g
i) 39,5 t = 39 t 500 kg — 39500 kg

Aufgabe 3
Ergénze wie im Beispiel a).

a) 24,88 Euro = 24 Euro 838 Cent = 248
b) 69,19 Euro = 69 Euro 19 Cent = 691

28.07.2013

b) 21,51 km = 21 km 510 m = 21510 m

d) 1,3dm = 1 dm 3 cm = 13 cm

f) 89,8 m = 89 m 8 dm = 898 dm
h)2,1dm =2dm 1 cm = 21 cm
)4,3dm =4 dm 3 cm = 43 cm

b) 41,65 t = 41 t 650 kg = 41650 kg
d) 26,1 kg = 26 kg 100 g = 26100 g

g) 233,05 kg = 233 kg 50 g = 233050 g
i) 55,61 t = 55 t 610 kg = 55610 kg

& Cent
9 Cent

¢) 14,44 Euro = 14 Euro 44 Cent = 1444 Cent

d) 87,67 Euro = 87 Euro 67 Cent = 876
e

)
f)
g
h

67,11 Euro = 67 Euro 11 Cent = 671

)
) 35,17 Euro = 35 Euro 17 Cent = 351

7 Cent

73,48 Euro = 73 Euro 48 Cent = 7348 Cent
61,41 Euro = 61 Euro 41 Cent = 6141 Cent

1 Cent
7 Cent

i) 88,76 Euro = 88 Euro 76 Cent = 8876 Cent,
j) 59,97 Euro = 59 Euro 97 Cent = 5997 Cent

www.dw-aufgaben.de

Seite 1

bsp-7542-3/ELMB

Quick:
7542

Quick:
7542

Quick:
7542



LOSUNG zu bsp-7542-3/ELMB

Aufgabe 4 :
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Ergénze wie im Beispiel a).

a) 58,58 km? = 58 km? 58 ha — 5858 ha b) 23,4 ha = 23 ha 40 a = 2340 a

¢) 91,66 dm? = 91 dm? 66 cm? = 9166 cm>

d) 57,64 ha = 57 ha 64 a = 5764 a

e) 16,79 dm? — 16 dm? 79 cm? — 1679 cm? f) 96,31 ha — 96 ha 31 a — 9631 a
g) 74,16 ha = 74 ha 16 a = 7416 a h) 28,35 ha = 28 ha 35 a = 2835 a

i) 58,35 km? = 58 km? 35 ha — 5835 ha

i) 42,91 em? = 42 em? 91 mm? = 4291 mm?

Viel Erfolg!
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